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QUESTION 1

In L3 mode, a sensor detects an L2 device based on which address? 

A. MAC 

B. IP 

C. Default Gateway 

D. DNS 

Correct Answer: B 

 

QUESTION 2

Which of the following deployment modes receives a copy of the packet from a mirrored switch port? 

A. Redundant 

B. SPAN 

C. TAP 

D. In-line 

Correct Answer: B 

 

QUESTION 3

When McAfee NAC reports the host status as unmanaged with an Unknown Hearth Level, the sensor redirects the host
to which of the following? 

A. Guest Client Portal 

B. NAC Client Portal 

C. Sensor Client Portal 

D. DNS Server Portal 

Correct Answer: A 

 

QUESTION 4

Which mode is used when certain hosts are located on the same network as a sensor and other hosts enter through a
router or VPN? 

A. Mixed 
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B. Hybrid 

C. Enforcement 

D. Prevention 

Correct Answer: A 

 

QUESTION 5

McAfee recommends which of the following methods to cable the heartbeat connection of a sensor failover pair? 

A. direct fiber connection with specified monitoring ports 

B. direct copper connection using response ports 

C. switched fiber connection 

D. direct copper connection using failopen port 

Correct Answer: A 
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